EXPANDING OPPORTUNITIES FOR TRADE INCREASES AMOUNT OF GOODS 
AVAILABLE TO SOCIETIES
Those that specialized in the good in which the new trading partner has a comparative are worse off
Trade Deficits - we owe outsiders 

   -  current US imports exceed US exports.   
   -  current US consumption exceeds production.
   -  foreign investors accumulate $ assets.

     -  US consumers “owe” foreign consumers.
Implication- future US consumption less than production 
Government Deficits - we owe ourselves
  - current US gov’t spending exceeds tax revenues

  - current US consumption equals production.

  - government debt displaces private debt.

  - US consumers owe US citizens.

Implication- future US consumption equals production

Implication- future US private capital reduced.
COMPLEX PRODUCTION

ROUNDABOUT PRODUCTION  

· USE OF CAPITAL EQUIPMENT TO LOWER MARGINAL COSTS

TEAM PRODUCTION

· WORKERS COMBINED INPUTS PRODUCE OUTPUT

USE OF COMPLEX PRODUCTION 

INCREASES AMOUNT OF OUTPUT AVAILABLE FROM GIVEN RESOURCES

CREATES MONITORING, INCENTIVE AND CAPITAL “PROBLEMS”
COMPLEX PRODUCTION OPPORTUNITIES LEAD TO THE MODERN CORPORATION
· LIMITED LIABILITY ALLOWS COLLECTION OF SUBSTANTIAL AMOUNTS OF CAPITAL

· WORKERS WHO CAN’T CONTROL SUCCESS OF PRODUCTION PAID BY MEASURED TIME INPUT

· MANAGERS RECEIVE SOME COMPENSATION BASED MORE ENTERPRISE’S SUCCESS

THE FIRM - OUR NAME FOR A PRODUCTION 



     UNIT 

THE INDUSTRY - THE COLLECTION OF FIRMS




    PRODUCING A PARTICULAR GOOD.

WHO ARE MEMBERS OF AN INDUSTRY??

DEPENDS UPON THE PRICE OF THE GOOD

WITH A PRICE CHANGE THE RESPONSE OF SUPPLY IS GREATER (MORE ELASTIC) WITH A LONGER ADJUSTMENT TIME

CURRENT SUPPLIERS CHANGE TO MORE OPTIMAL PRODUCTION TECHNIQUES

ENTREPRENEURS ENTER (PRICE INCREASE) OR LEAVE THE INDUSTRY.
17.  A survey of full time workers indicated that 65 percent responded that they would prefer to "work for themselves" yet only 3 percent in fact had their own business.  I am aware of no legal impediment preventing anyone from quitting his or her job and starting their own business.  Carefully explain why individuals choose to sell their leisure to others rather than using it to run their own business even though they say they would prefer the latter (i.e., explain the economic advantages of the "capitalist firm").

30.  Suppose a frost destroys South American coffee crops on 50% of the planted acreage.  As a result the price of coffee rises.   

a.  Will both consumers and farmers be worse off?
b.  Will farmers revenue tend to change over time after the initial price change?
COMPLEX PRODUCTION IMPLIES PLANNING AND CAPITAL EXPENDITURE PRIOR TO ACTUAL PRODUCTION
CONSIDER TWO PRODUCTION ALTERNATIVES

YEAR


A




B




WHEAT


APPLES 

  1


+$10,000


-$20,000

  2


+$10,000



0

  3


+$10,000


+$25,000

  4


+$10,000


+$25,000

  5


+$10,000


+$25,000

WHICH IS THE BETTER ALTERNATIVE?

IN ORDER TO EVALUATE, WE MUST HAVE A COMMON MEASURING UNIT

(CAN’T ADD DOLLARS TODAY AND DOLLARS NOT RECEIVED UNTIL LATER)

CAN USE THE MARKET “PRICES” (MOST PEOPLE PREFER A DOLLAR TODAY TO ONE LATER - THEREFORE VALUE OF $1 NOW  EXCEEDS VALUE OF FUTURE $1)
THE “INTEREST RATE” IS THE MEASURE OF THE PERCENTAGE PREMIUM IN VALUE THE PRESENT HAS OVER THE FUTURE.

IF I’M INDIFFERENT BETWEEN HAVING $1 NOW AND $1.10 ONE YEAR FROM NOW

THE PERCENTAGE PREMIUM IS

R  =  $1.10
-
$1.00    =   $.10     =  10%



   $1.00                $1.00

INTEREST RATE (R) =  
FUTURE AMOUNT (F) - PRESENT AMOUNT (P)





PRESENT AMOUNT (P)


R = (F-P) / P


F = P x (1+R)


P =   F / (1+R)

IF WE ARE DEALING WITH MULTIPLE PERIODS WE SIMPLY APPLY THE FORMULA MULTIPLE TIMES
FOR EXAMPLE – WHAT IS THE PRESENT VALUE OF AN AMOUNT F THAT WON’T BE RECEIVED UNTIL 3 PERIODS IN THE FUTURE

1.  FIND THE VALUE TWO PERIODS IN THE FUTURE


F2 = F3 / (1+R)

2.  FIND THE VALUE OF F2 ONE PERIOD IN THE FUTURE


F1 = F2 / (1+R)

3.  FIND THE VALUE OF F1 IN THE PRESENT 


P = F1 / ( 1+R)

THEREFORE P = FN / (1+R) N

PRESENT VALUE OF THE TWO PRODUCTION ALTERNATIVES

ASSUME THE FARMER HAS AN OPPORTUNITY COST OF 10%

YEAR

A

    PV


B

    PV



WHEAT
WHEAT
APPLES
APPLES 

  1

+$10,000
+$9,091   
-$20,000
-$18,182



   (1+.1)




   (1+.1)

  2

+$10,000
+$8,264

0



   (1+.1)2

  3

+$10,000
+$7,513   
-$25,000
+$18,783



   (1+.1)3



   (1+.1)3

  4

+$10,000
+$6,830   
-$25,000
+$17,075



   (1+.1)4



   (1+.1)4

  5

+$10,000
+$6,290   
-$25,000
+$15,230



   (1+.1)5



   (1+.1)5






------------



------------

PRESENT VALUE  $37,988




$32,906

1.  WHAT WOULD YOU EXPECT TO HAPPEN TO THE PRICE OF THERMOPANE WINDOWS IF THE INTEREST RATE RISES?

2.  WHAT DETERMINES THE INTEREST RATE?

3.  WE SEE LOTS OF DIFFERENT INTEREST RATES.  WHAT IS “THE INTEREST RATE?”

4.  HOW MUCH IS IT WORTH TO A PUBLIC EMPLOYEE WHO HAS THE RIGHT TO “OPT OUT” OF SOCIAL SECURITY?

5.  IS THE INTEREST RATE THE PRICE OF MONEY?

THE INTEREST RATE IS A PRICE.  

Measures Premium of Present over the future

PRICES ARE DETERMINED BY??

Interest as a price determined by??

WHO ARE THE DEMANDERS?

WHO ARE THE SUPPLIERS?

OBSERVED INTEREST RATES REFLECT-

1.  THE PREMIUM OF THE PRESENT OVER THE FUTURE

2.  THE RISK THAT THE “LOAN” WILL NOT BE PAID BACK.

3.  THE RISK THAT THE DOLLARS RECEIVED IN THE FUTURE WILL NOT BE WORTH AS MANY REAL GOODS AS THE DOLLARS GIVEN UP.

THE OBSERVED INTEREST RATES THEREFORE EQUAL R + RISK % + EXPECTED INFLATION

AT A WAGE OF $50,000, SOCIAL SECURITY COLLECTS ~$7,500 PER YEAR OF WHICH ABOUT 2/3 IS RETIREMENT.

THE STOCK MARKET HAS YIELDED 8 PERCENT OR MORE IN REAL TERMS OVER ANY 40 YEAR PERIOD.

INVESTING $5,000 PER YEAR FOR 40 YEARS AT 8% WILL LEAD TO $1,295,055

(FROM Table 10-3, PV of a 40 year $1 annuity at 8% is 11.925.  From Table 10-1, FV of $1 in 40 years at 10% is 21.72.  Therefore FV of $5000 per year for 40 years is $5000 * 11.925 * 21.72 = 1,295,055)

THIS WOULD PRODUCE A MONTHLY INCOME OF $8634 (.08*$1,295,025).  

SS PAYS THIS LEVEL WORKER ABOUT $1,100.

IT WOULD TAKE ~$4,360 EXTRA PER YEAR TO DUPLICATE.

($1/yr 40 years will yield $21.72 (T10-1).  At 8% this will yield an income of .08*21.72=$1.7368.  Dividing into $21.72=$4971.)

WHY THE DIFFERENCE?

COMPOUNDING - 2% VERSUS 8% AND RULE OF 72 

